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:DUGD�� ������ � 3HUVHSVL� *XUX� 3DPRQJ� 7HQWDQJ� 3HODNVDQDDQ� 3HQJDODPDQ�
/DSDQJDQ� .HSHQGLGLNDQ�0DKDVLVZD� *HRJUDIL� GL� 60$�1HJHUL�
.RWD�3DGDQJ�6HPHVWHU�-XOL�'HVHPEHU 7DKXQ �����

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� ���� 0HQJHWDKXL� SHUVHSVL� SDPRQJ� WHQWDQJ�
SHODNVDQDDQ� 3/.�PDKDVLVZD� JHRJUDIL� GDODP� NHJLDWDQ� WHDFKLQJ� GL� 60$� QHJHUL�
.RWD�3DGDQJ 6HPHVWHU�-XOL�'HVHPEHU�7DKXQ�������GDQ�����0HQJHWDKXL�SHUVHSVL�
JXUX�SDPRQJ�WHQWDQJ�SHODNVDQDDQ�3/.�PDKDVLVZD�JHRJUDIL�GDODP�NHJLDWDQ QRQ�
WHDFLQJ�GL�60$�QHJHUL�.RWD�3DGDQJ 6HPHVWHU�-XOL�'HVHPEHU�7DKXQ������

-HQLV� SHQHOLWLDQ� LQL� DGDODK� SHQHOLWLDQ� \DQJ� PHQJJXQDNDQ� PHWRGH� SHQHOLWLDQ�
JDEXQJDQ� �0L[HG� 0HWKRG� GHQJDQ SHQGHNDWDQ� NXDQWLWDWLI� GDQ� NXDOLWDWLI�� 6XEMHN�
SHQHOLWLDQ�GDODP�SHQHOLWLDQ�LQL�\DLWX����JXUX�SDPRQJ�\DQJ�EHUWDQJJXQJ�MDZDE�SDGD�PDWD�
SHODMDUDQ� JHRJUDIL�� 7HNQLN� SHPLOLKDQ� VXEMHN� SHQHOLWLDQ� \DLWX� GHQJDQ� WHNQLN� SXUSRVLYH��
7HNQLN�SHQJXPSXODQ�GDWD�\DLWX�GHQJDQ�REVHUYDVL��ZDZDQFDUD�GDQ�GRNXPHQWDVL��7HNQLN�
DQDOLVLV�\DQJ�GLJXQDNDQ�\DLWX��FDWDWDQ�ODSDQJDQ��UHGXNVL�GDWD��GLVSOD\�GDWD�GDQ�SHQDULNDQ�
NHVLPSXODQ�

3HQHOLWLDQ� LQL� PHQHPXNDQ� EDKZD�� ���� 3HUVHSVL� JXUX� SDPRQJ� WHUKDGDS�
NHJLDWDQ� WHDFKLQJ� WHODK� EDLN� WHWDSL� PDVLK� DGD EHEHUDSD� NHOHPDKDQ� GDQ� DGDQ\D�
SHUEHGDDQ�KDVLO�ZDZDQFDUD�GHQJDQ�QLODL�WHUWXOLV�\DQJ�DGD�GL�EXNX�SHQLODLDQ�\DQJ�
GLEHULNDQ�ROHK�833/�� ����3HUVHSVL� JXUX� SDPRQJ� WHUKDGDS�NHJLDWDQ�QRQWHDFKLQJ�
VXGDK� GLQLODL� EDLN� ROHK� JXUX� SDPRQJ�� 0DKDVLVZD� 3/.� WHODK� PHODNVDQDNDQ
NHJLDWDQ�QRQWHDFKLQJ�\DQJ�WHODK�GLDWXU�ROHK�PDVLQJ�PDVLQJ�VHNRODK EDLN�NHJLDWDQ�
SLNHW��XSDFDUD��HNVWUDNXULNXOHU�GDQ�NHJLDWDQ�ODLQQ\D��

.DWD�NXQFL ��SHUVHSVL��JXUX�SDPRQJ��SHODNVDQDDQ�3/.


